




3³× 6³ ÷ 9³ +? = 7²  

(A)31         

(B)41            

(C)49          

(D)57

(E)None of these 



22 × 12 − 12 × 18 + ( 59 )² ? 

(A)3461         

(B)3961            

(C)3861          

(D)3761

(E)None of these 



18% of 250 + 35% of 300 − 15% of 400  = ? 

(A)83         

(B)80            

(C)90          

(D)70

(E)None of these 



32.46 + 12.24 + 46. 34 − 18.06 − 14.1 =  ? 

(A)54.58         

(B)68.58            

(C)58.58          

(D)48.58

(E)None of these 



( 6 + 7 )² + 221 + (42)² =?  

(A)2134         

(B)2154            

(C)2254          

(D)2054

(E)None of these 



2080 − 36 × 34 + 960 = ? 

(A)2026         

(B)1826          

(C)1816        

(D)1316       

(E)None of these 



? % of  450 + 12 = 138 

(A)28         

(B)38            

(C)25          

(D)33 1/3

(E)None of these 



35 × 24 ×? = 4200 

(A)2         

(B)4            

(C) 5         

(D)2.5

(E)None of these 



53² + 42² − 4816  ÷ 8 = ?

(A)3771           

(B)3861              

(C)3871             

(D)3971 

(E)None of these 



√961 + 23² − 104 + 240 ÷ 12 = ?

(A)431           

(B)421             

(C)412             

(D)411 

(E)None of these 



362 + 461 + 231− 120 + 729 ÷ 9 = ?

(A)1035           

(B)915              

(C)1015             

(D)1115 

(E)None of these 



6054 ÷ 6 + 115 = ? + √8464 

(A)1432           

(B)1032              

(C)1132             

(D)932 

(E)None of these 



32.132 + 21.323 + 64.234 + 12.212 + 12.11= ?

(A)142.011           

(B)141.011              

(C )140.011             

(D)143.011 

(E)None of these 



320 of 40% + 135 of 20% + 110= ?

(A)245           

(B)275              

(C )255            

(D)265        

(E)None of these 






